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Ecology #3: Human Impact on Ecosystems- Conservation

For studying purposes or additional information, most of the following content can be found in...
e Biology Book = Chapter 7
Section 1: Human Population Growth and Natural Resources

o Earth’'s human carrying capacity is Un\(nmun
o The carrying capacity of an environment....

con Qh&nsc, 0 Yhe enviament Qhange,s,

*  Modified Environments that have increased Earth’s Carrying Capacity.

. _J?_%nw\‘mrt.l We talked about how each
mns\’“\_o'}mn of thesc hawe hclPth h increase

* Medica) xAd\mnee_s Farths earrwdinj capacity... as well

e SanioXion as now ’muj are aM relakd | how

_ _ \mpact eadh other
=  The growing population exerts :?ﬂgﬁnxg on Earth’s

= Most used natural resources for energy =

* Oi\
EER US|

“Both are. nonrenewoble

o Nonrenewable resources: '\)se_d Q(.\%\tr Fan han J\‘\'w_t) Qbrrn

= Renewable resources:

Cannot be used Up or tan rt?\tnish themselws over Hime.

* e Wind, Solar ¥ Wydre

e Renewable resources can become....... = NoNren a)n\e. " Yesourtes .\ ?_

o} used cmt@u\\“j-
o EBxample=\Waker ... due hf?o\\o\ﬁm .



= Ecological Footprint: “\\{_ omoun\ OQ \O.na MA{A ’m‘bu‘:v?of\ (L?ejﬁofl

e The land must produce and maintain enough

o $ood ¥ woker
° Selyexr

9 cnvra\ﬁ

° woske

Average Ecological Footprint by Region:
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o Factors that affect the size of an ecological footprint:

. \Amoun\ % c??\c_imuj of resourre used.

" Amounk & ovieiky of waske produced

Connect and Analyze:
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1. Explain how a renewable resource such as water could become a nonrenewable resource?

2. Why is our ecological footprint related to an area of land?



Pollutants accumulate in the air.
o Pollution:

"74"5 undesirable fackor added Yo he air. woler o coi,

* Smog:Ya one ’r\j?e, of air ’?o\\u’rion.

. \ interacts with pollutants in the air.

o Define Particulates: MiQIDSQD?\Q, bits of dus\, metod NV
unburned fyel thok are %us?cnéd
n the i

e Pollutants produced by &5&3\ ﬁg)gmgsﬁjm a ;
e Made of ] and %lnmnd—\gggl OZhne. .

= Smog can be harmful to human health:

* Porkicolokes can be innaled.

* Ground leve) ozone. is oded harmBl Yo humang &
"tD Other eco‘s%%\m\ %r\c&ions.

o Acid rain is caused by _“\:Dﬁﬁj_\_%ﬂjn:uﬁﬁlons

= Produced when pollutants in the water cycle cause: roam fP\‘\ '\u dn:.?

o Con \ower Yhepht of a loke or Shwam.
e fan harm Yrees.

o Air pollution is changing Earth’s _b_'\_ns?\)grf
= The levels of atmospheric carbon dioxide rise and fall over time.

= High levels of carbon dioxide Earth’s =M_01_mgx_'?fﬁnr\s
= Low levels = Qoo\u’ “?C\"io(\.‘i’s = (‘;I(".e_ .Age_)

o The Greenhouse Effect:
Occurs when carbon dioxide, water and methane molecules absorb energy reradiated by

Earth’s surface and.... S\opws Yhe velease of this mrSS grum
Fartn's odrosphere.



= Global Warming:

Kelers Yo the frend of increasins 3\0M\ “rem?era\‘urc&

e Qver the past 100 years = EQT“‘\‘S ONC.TQ;S, '\om? has 'mercasec] \33
D_\_QOQ. or VWZTF

e Most dramatic increase in the last L\D qeo..rs
o Caused by:

. Trereased levels of Qreenovse aoses = Waker \,O.l?ur’ (H20)
Caroon dioxide (€02) % Metnane (CHy)

° '_[ndue\vz.s
® Auhmbbi\ts

e Problems caused by Global Warming:
o Ecological disasters....

'-I“Q."CQ3€A F\ODA\OS CG.USQ L()ss O‘Q
. S’tnn%cr T"‘b?i@&\ Shorms "B'\odiws\’ra

Synthesize and Connect:

1. As the human population continues to increase and use more fossil fuels, why might acid rain become a
bigger problem?

2. How might global warming affect seasonal temperature changes?




Water Quality

e Water pollution affects our ecosystems: "\"\5‘)@3 OQ(?D“U'\‘Q"\\'S .

° Mhemicols

oRow Semo.sc.

° Vragh

° O¥her waste producks

e Define Eutrophication:
A thoking of rivers, 1okes and ofher walerwaus \os eXeeSSive
outh witieh has been shimulaed 55 Pehlizers oc &m%

e Indicator Species:

Olgac

o AKA=Yioindicolor

o Provides o sign or “indicakion " of an ecosgakm's \realth |
= Example: Fms._-,
o -,Aﬂ;mhg indicator species show the d)' ceoX gg&c}§ of
pollution.

Bample: Foeater's Yern io an indieokor 6?c(:ic‘:> Qor Yhe
e Biomagnification: San Fm“d%m{&‘b.

o Causesaccumulation of..... Apying N the ?‘Doa chain.

o Pollutant mms_ua‘z_ﬁn_gmﬂ_(ﬁ)mn as predators eat prey.

o Accumulating in ‘hiﬁhﬂ" in the bodies of predators.

Apply and Compare:

1. If the population of an indicator species is increasing, what might you infer about the conditions of the
ecosystem?

2. Why would tertiary consumers have higher concentrations of toxins than primary consumers?



Threats to Biodiversity

e Preserving biodiversity is important

o Loss of biodiversity has long-term effects
"\ nss of medical ¥ -\echno\ogico.\ odvances .
" Extinchion of Species.
" Loss of ecseystem %\u\o‘\\'\\-&
e Loss of habitat _e\isninokes species.

o Habitat fragmentation prevents an organism from m;)%_'\}ﬁ_mmme range.

= Qccurs when a bg\rﬂg;: gm;g;ﬁ forms within the habitat
= Often caused by J:nmm_dr_\l_dn?_msnL

o Habitat _covridors are a solution to the problem.

e Introduced species can disrupt stable relationships in an ecosystem.

o _Introduced species.

Dne thot is ok Jo an ecosystom by humons
®) O

\f_\—’/
N &\V’ * Aceidental
" Porposefol

= |nvasive Species:

Con hove an envirnmental & economie '\m?qc),.

““Usually o %%IW&* h

. . .
Invasive species often,.P%

out nahive 'S?fcies_

o Examples:
-%U'{mt‘&ﬁ_(?b’f\‘toﬂ = Plorda E.W\’S\OAQS
+ Kodzy = Sootheastern Vniked Stakes
= Mice = Mushrolia
*%u\\?ngs - Arizona



Connect and Predict:

e Why is wetland habitats important for migrating birds?

e How might a species of carnivorous fish introduced into a lake have a negative impact on the lake
ecosystem?

Conservation

® Sustainable development:

o s a practice in which mfmggg CesONCees are used and managed in a way that

meets the current needs without hurting &mm %gnfmbons :

o Example -_Bloba) Fiaheries,

= Qverfishing has depleted fish populations worldwide.

m  Fish stock are not as hardy as they once were.
= When fish of reproducing age are removed from the population, it actually hurts the
fishing industry.
e Techniques that fisheries can adopt to make the industry sustainable:

o Rotation

o’rohﬂg fween Aifferent apecies gwe_‘b e “of0

opecies Hhone ' weeover.

o Ef_,\n )D‘: (ﬁmc Review

= Reviewing and possibly banning certain fishing gear could help
avoid damaging the sea floor and prevent ecologically important

organisms from being killed.



o] nggg,}f E!gég)gij o) :
= Slowing the harvest of deep-water species that grow very slowly
allows them more time to recover their populations.
o bia \'\'\g% Bans :
= (Creating and enforcing fishing bans in certain areas help to
replenish populations within that area, which may lea to greater

fish numbers in nearby locations.

e Umbrella species:

o When a single species within an ecosystem is places on a list ofﬂdmﬁgﬁmL,

many other species within the ecosystem benefit.

o The listed species is often called an n]‘T_":bE“Q g?em' e )



